1. Paragraph 2 line 2 from the end, “to for” should be “for”

2. End of first section needs a further statement about the size of the sample being key besides the “in addition” one. Maybe before the in addition sentence you can add one like “Our sample is large enough to test these hypotheses at a statistically robust level, substantially improving over any conclusions that might be based on the existing much smaller samples.”

3. Where you say 20% of the Seyfert 2s do not have X-ray data, also give the number so you do not confuse the TAC with mixed units: “20% (9)”

4. In general, you are now subject to the criticism that 20% will not make a big difference. I don’t know how to combat this, but you might see if there are distinguishing features of the missing objects that would indicate further bias if they are left out. 

